o FHONT=TTH=a=

5A3B(A)~5ATA (&)

-

/38(R) /4B(K) /' 5A(7K) /6B (7F) /18(&)
h=21—620% .
AIFNHK—2—
a,. 350M 4607
& 306kcal 1#§51.6g 653kcal 1#§42.6¢g
FE/T—0
— R—2hL—
HS523T
AILZ—%XZa— | 310 LD
BES 319cal #EM1.1g BEa 276kcal #EH15g
{8R(/) 602kcal #EH34g {E18Rk (/") 580kcal 1#E435¢g
@ 8RR () 726kcal 1#E43.4¢g {8k (%) 704kcal #E435g
330m F—RALNE—7 | HELEADD
. 4.
KA STy 427kcal 1#EH16¢g 448Kkcal 215g
=Y =5
280m _ BEONEH: R=1p¢h
& 196kcal 15209 174keal #5138
i
TRNKSGEF—RO)
H2Fqusa | 1608 E R M —{s20w
202kcal 4 1.1g 283kcal 18508 ¢

X AT EMRBOMIZHRYET,
& L5 BEREEALTHYET,

(My-¥za- GRERITE, @




